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THE OPEN UNIVERSITY OF SRI LANKA
DEPARTMENT OF SOCIAL STUDIES
CERTIFICATE IN SOCIAL SCIENCES - LEVEL 11
FINAL EXAMINATION — 2018/2019 (SEMESTER I)

DSC2812/8SSC2312 - FUNDAMENTALS OF ECONOMICS : oo

DURATION: THREE (03) HOURS ONLY

Date: 19 January 2019 ‘ Time: 01.30 p.m — 04.30 p.m

Instructions:

» Answer five (05) questions only.
» Part I is compulsory. Choose at least one question each from Part IT and Part 111
and answer four ((4) more questions.

Part ]

1.  Write short answers on all of the following (Maximum 100 words per answer)

a)
b)
c)
d)
e)

Market economic system and Mixed economic system
Point elasticity and Arc elasticity

Total revenue and Total cost

Injections and Leakages in Macroeconomic equilibrium
Narrow money and Broad money

(5%4 = 20 Marks)

PartI1
As a student, how do you explain the term “Economics™? (5 Marks)
Graphically explain a hypothetical production possibility frontier. (7 Marks)
Briefly explain how economic systems answers basic economic problems. (8 Marks)
What does market equilibrium mean? Explain with an example, {5 Marks)
Explain the Law of Diminishing Marginal Utility (ML) {7 Marks)
Graphically explain the surplus and shortage in a goods market {8 Marks)




a} Explain the characferistics_ of a Monopoly market with examples. (4 Marks)

b) Briefly explain the dilferent type of price elasticity of demand using appropriate graphs.

: (7 Marks)
¢) The following table shows some information about mangos in a market. Answer following
question using this information. e
Price (P) Income (M) Qd (Units) Qs (Units)
10 1000 300 150
20 2000 270 180
30 3000 240 210
40 4000 210 240
30 . 5000 180 270
60 6000 150 300

I  If price falls from Rs. 30 to Rs. 20 Calculate the price elasticity of demand and explain
about that goods.
I If price falls from Rs. 50 to Rs. 10 Calculate the price elasticity of supply and explain
about that goods. '
Ill.  If Income increase from Rs. 3000 to Rs. 5000 Calculate income elasticity of demand and
explain about that goods.

(Each 3 marks)
Part HI
a) Define the terms “Unemployment” and “Underemployment” (5 Marks)
b) Briefly explain the concepts of demand of labour and supply of labour using graphs.

(7 Marks)

¢) What are the reasons behind the unemployment problem in Sri Lanka? Provide appropriate
examples (8 Marks)
a) How do you differentiate inflation from price fluctuation? {5 Marks)

b) Do you really believe that inflation affects everyone at the same level? Justify your answer
(7 Marks)
¢) Briefly explain the causes and effects of Demand-pull inflation and Cost push inflation
(8 Marks)
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)

a) Explain \%fh)/ countries trade with other countries. Provide appropriate examples. (5 Marks)
b) Briefly Explain the important functions of money. (7 Marks)
. ¢) Why do countries need the Central Bank? Explain with examples. {8 Marks)

Write short notes on any four (04) of the following "

a) Perfect competitive market d) The income effect and the substitution effect
b) Fixed exchange rate policy e) Components of money supply
¢) Population density f) Economic Growth

(5 Marks each)
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a) Explain \;vhy countries trade with other countries. Provide appropriate examples. (5 Marks)
b} Briefly Explain the important functions of money. (7 Marks)
¢) Why do countries need the Central Bank? Explain with examples. (8 Marks)

Write short notes on any four (04) of the following

a) Perfect competitive market d)} The income effect and the substitution effect
b) Fixed exchange rate policy ¢) Components of money supply
¢) Population density f) Economic Growth

(5 Marks each)
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